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ED-2079

B.A. B.Ed. (IInd Year) Examination, 2022
ECONOMICS
Paper - I (CC-5)

(Macro Economics)

Time : 3 Hours | [ Maximum Marks : 80
Section-A (Marks : 2 x 10 = 20)
Note — Answer all fen questions (Answer limit 50 words). Each question carries

Note —

e -

2 marks.

(TUS-3N) (3 : 2 x 10 = 20)
Tt T YT % I Y (W 50 ) | T&E T 2 3k
Section-B (Marks : 6 x 5 = 30)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 6 marks.

(TUs-) 37k : 6 x 5 = 30)
[t Ofer el % S STl Tods e § foeen @ e wifen (Sw-dm
200 ¥1%) | YAF T 6 3H A T

Section—C (Marks : 10 x 3 = 30)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 10 marks.

(Tus-7) (3 : 10 x 3 = 30)

g H F fe=l O 99 & SW ST (SW-HH 500 v15) | Yo% YYA 10 37k
Eal A
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Section—-A
(Tue-3)
1. @ Describe the definition of Macro Economics.
Tefte 1o 1 qRYe SIS |
(i1))  Differentiate between GNP and NNP.
Hha T AR (GNP) 3 faa I 3eae (NNP) § =R &ifag |
(ii1) What do you understand by Green Accounting ?
TR TR o9 N e § 2
(iv) What is the ‘Says’ Law of Market’ ?
‘¥ H SR fEm Fm w2
(v)  What is effective demand ?
Tt AT F T ?
(vi) Define the Marginal Propensity to Consume (MPC).
SYHNT &t HH= ggfa (MPC) &1 SHemsT |
(vii) Explain the Liquidity Trap.
T ST shl FHEART |
(viii)) Main characteristics of Trade Cycle.
MR =% i ed fageman |
(ix) What is Accelerator ?
R M ?
(x)  Sources of Growth.

gfg & &l
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Section-B
(TUs-9)
2. Describe the Macro Economic Paradox.
THfte o foRienym &1 avie wifs |
Or
(3rgam)
Explain various methods of measurement of National Income.

T ™ & A9 &t fafie faftel = 9o it

3. Describe the aggregate demand function and aggregate supply function (with

diagram).
T HiM %o SR HHU Yfd ®er w1 9uiA st (Renfed |fEd) |
Or
(g

Factors influencing consumption function.
S e I Wi i & T |
4. Discuss the factors affecting Marginal Efficiency of Capital (MEC).
st Y AT FHITCAA DT GG A TS TLHT RN T RIS |
Or

(3

(Classical theory of Interest.

o o

=S ahT gfafssa fagr |

5.  State briefly Hayek’s over investment theory.
T & afa fafEm fagra 1 d@ém § saEw)
Or
(3rgam)
Control of Trade Cycles.
SR =51 T =0 |
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10.

11.

What is the difference between growth and development ?
gfg iR fa@ & He7 91 oW T 2
Or
(3rgam)

Explain the Ricardian Growth Theory.
el & gfe fagm & 99emu |

Section—-C

(Tue-H)
Describe the different concepts of National Income.
T o9 &1 fafve staaronstt &1 avie wifw)
Explain the Keynesian theory of determination of output and employment.
HI gR faufea Scaes e Ao fAuier & fagea w1 faesm s
Explain the investment multiplier. What is its role in under-developed countries ?
fafm o 1 smen i) seu-famfaa I9i & ot = i © 2

Explain the Samuelson’s multiplier-accelerator interaction model of trade cycle.

AT & AR o % TUh-OReh STAIhAT AISA T qUM iy |

Explain the Lewis model of unlimited supply of labour.

dfag & o9 ®t oA gfd Bied 1 9HmEy |
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